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Which of the following themes is not included in Health Promoting School Projects ?
(A) sexuality education (B) tobacco control

(C) ideal body weight (D) school environmental protection
"Tooth brushing teaching" can be categorized in which of the following major aspects of
health promoting school ?

(A) personal health skills (B) school health policy

(C) social environment of schools (D) health service

According to the World Health Organization (WHO) standard, an "aged society" is a
country or region in which people over 65 years old exceeds how many percent of the
whole population ?

(A) 5% (B) 7% (©) 14% (D) 20%

54. Up to now, there are over 300,000 people died in COVID-19 (Coronavirus disease-2019)

55.

56.

57.

58.

59.

globally. Which of the following country has the most reported deaths in COVID-19 ?
(A) China (B) United State (C) Russia (D) Italy

According to regulation of Taiwan Center for Disease Control, people should keep how
much distance for indoor social distancing ?

(A) 0.5 meter (B) 1 meter (C) 1.5 meter (D) 2 meter

The disease transmission of COVID-19 is mainly by:

(A) air pollutants

(B) blood transmission

(C) fecal oral transmission

(D) direct contact with secretions or droplets.

About the treatment of COVID-19 infection, which of the following statement is not
true ?

(A) There has so far been no approval drugs against COVID-19 infection.

(B) Vaccine for influenza can apply to cure COVID-19 infection.

(C) Clinical trials are applied to evaluate direct treatment.

(D) Infected patients get supportive treatments in hospital.

Which of the following diseases will destroy human immune system ?

(A) AIDS (B) Influenza (C) SARS (D) Hepatitis C
According to the statistic report of Taiwan Centers for Disease Control, the age range
that most HIV infected falls between =~ in 2019.

(A) 15 to 24 years old (B) 25 to 34 years old

(C) 35 to 49 years old (D) over 50 years old
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The "Theory of Planed Behavior" was developed by Azjen in 1985. Which of the
following behavior science models is the base ground that Theory of Planed Behavior
developed from ?

(A) Social Learning Theory (B) Health Promotion Model

(C) Transtheoretical Model (D) Theory of Reasoned Action.

Which of the following behavior science modelincludes "self-efficacy" as one of its key
components ?

(A) Social Learning Theory (B) Health Belief Model

(C) Transtheoretical Model (D) Theory of planed Behavior

The Transtheoretical Model mentioned five stages of change to describe behavior
changes. Which of the following stages is proper to describe a person who try to reduce

weight and do exercise in the gym once in a while ?

(A) pre-contemplation stage (B) contemplation stage

(C) preparation stage (D) action stage

The most common cancer occurred in Taiwanese people aged between 25 to 44 is:
(A) oral cancer (B) colorectal cancer

(C) lung cancer (D) breast cancer

"Silent Spring" published in 1962, is an environmental science book by Rachel Carson.
This book described the adverse environmental effects caused by overuse of what kinds
of chemical ?

(A) CFCs (B) PCB (C) DDT (D) PVC

"Sick building syndrome" is:

(A) a phenomenon that building's outer surface come off.

(B) a special architecture design (eg. tower of Pisa).

(C) a collapsed building usually caused by earthquake.

(D) a symptom where people become infected from the building they work.

If a student is down in the playground with these symptoms: Dizziness and
light-headedness; Lack of sweating despite the heat; Red, hot, and dry skin; He is in :
(A) Heat stroke (B) Heat exhaustion (C) food poison (D) Febrile seizure
Cardiopulmonary resuscitation (CPR) is an emergency procedure that combines chest
compressions often with artificial ventilation. There are 5 steps in this rescue process:
call 119, check patient response, clean airway, breath air, and chest compressions.
Please put the above five steps into correct order.

(A) call 119, clean airway, chest compressions, breath air, check patient response.

(B) call 119, check patient response, chest compressions, clean airway, breath air.

(C) call 119, check patient response, clean airway, breath air, chest compressions.

(D) call 119, chest compressions, breath air, clean airway, check patient response.
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Methamphetamine is the most used prohibit drug in Taiwan. According to regulations of
Taiwan Food and Drug Administration, methamphetamine is categorized as which Class
of drug ?

(A)Class I (B) Class II (C) Class III (D) Class IV

Methane is one of the greenhouse gases with a higher global warming potential than

carbon dioxide. Which of the following places is not a methane emitting source ?

(A) paddy field (B) incinerator (C) coal mine (D) landfill

Which of the following pollutants is net included.in Taiwan Air Quality Index (AQI) ?
(A) carbon dioxide (B) ozone

(C) particulate matters (D) nitrogen dioxide

When Air Quality Index (AQI) above 300, that means the air quality is hazardous to
human being. What color is used to represent the hazardous level air quality ?

(A) orange (B) red (C) purple (D) brown

According to the reports of Environmental Protection Agency, for the past 5 years (2015
- 2019), the trend of air quality in Taiwan is :

(A) getting better year by year (B) getting worse year by year

(C) maintained in the same level (D) going up and down (no trend)

Which of the following statements about endocrine disrupting chemicals (EDCs) is not
true ?

(A) EDCs will accumulated in fish's fat.

(B) EDC:s is not easy to biodegrade.

(C) EDC:s is easy to dissolve in water.

(D) EDCs' level will increase through bio-magnification.

Minamata disease is a neurological syndrome caused by heavy metal poisoning.
Symptoms include ataxia, numbness.in the hands and feet, general muscle weakness,
narrowing of the field of vision and damage to hearing and speech. Which of the

following metals is the cause of Minamata disease ?

(A) lead (B) cadmium (C) mercury (D) arsenic
Acid rain is defined as when the pH wvalue of rain water is below ?
(A)4.5 (B)5.0 (C)5.7 (D) 6.0

Which of the following is notiincluded in the Five Core Competency of safe medication
education in Health Promoting School project ?

(A) able to read drug labeling

(B) able to present your own health situation

(C) able to buy non-prescription drugs from advertisement

(D) able to communicate with doctors and pharmacist
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According to noise control network of Taiwan Environmental Protection Agency,
human sleeping quality will be influenced when noise level is above how much
decibel ?

(A) 30 (B) 40 (C) 50 (D) 60

A seventh grade student is 168 cm in height and 55 kg in weight. What is the body mass
index (BMI) value of this student ?

(A) 3.05 (B) 32.7 (C)24.2 (D) 195

A carbon footprint is the amount of greenhouse gases, primarily carbon dioxide,
released into the atmosphere by a particular human activity. Which of the following
activities has the highest carbon footprint.?

(A) use air conditioner overnight (need 20 kwh electricity)

(B) eat beef noodle for lunch (eat 0.25kg beef)

(C) ride scooter for 50 km (spent 3Liter gasoline)

(D) ride U-bike to school for a month

Earth Day is an annual event celebrated around the world to demonstrate support for
environmental protection. The theme for Earth Day 2020 is climate action - the most
pressing topic for the 50" anniversary. What is the date of Earth Day ?

(A) April 22" (B) June 5™ (C)June 8" (D) March 21"

To prevent infectious diseases, which of the following statements is wrong ?

(A) Receiving recommended vaccination.

(B) Routine cleaning and disinfecting the environment.

(C) Wearing a face mask in public.

(D) Eating nutritional supplements to increase immunity.

Which of the following statements related to interpersonal communication is correct ?
1. Choose appropriate timing when the atmosphere is relaxed or each other is in a stable
mood; 2. Try to be objective without presupposing a position; 3. Listen to each other's
ideas carefully; 4. Know yourself and the other ’s demands; 5. In order to reach a
consensus, both sides can take a step back.

(A) 12345 (B) 1234 (C) 1345 (D) 2345

Which of the following statements about diet and nutrition in adolescence is wrong ?
(A) There are six categories of nutrients required.

(B) The daily diet guide contains six-categories of foods.

(C) There are suggested 6-12 portions of soy, fish, eggs and meat per day.

(D) There are suggested 4-7 teaspoons of oil and 1 portion of nuts and seeds per day.
Which of the following statements is relatively wrong with regard to the plans to
improve personal health ? Individual should...

(A) select multiple health practices that you want to change.

(B) identify the goal of change.

(C) formulate a feasible implementation plan.

(D) learn self-affirmation and feedback.

10
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Which of the following statements about menstruation is wrong ?

(A) Duration of Menstrual bleeding lasts for 4-8 days.

(B) Moderate exercise can still be performed during menstruation.

(C) Menstruation during puberty may be irregular.

(D) The process of oocyte maturation, and male hormones will be secreted to stimulate

endometrial thickening.

Which of the following is net commeon source of stressors in adolescence ?

(A) Major changes in life (B) heavy school work

(C) poor community environment (D) unfavorable personal personality

It is important to improve one's ability to cope stress. Which of the following is not a

good strategy for stress coping ?

(A) Thinking of stresses as positive challenges in life

(B) Living a life easily

(C) Building good interpersonal relationships

(D) Maintaining a healthy lifestyle

Which of the following statements about body fat is wrong ?

(A) The body fat percentage is one of the important healthy body weight indicators.

(B) For men under 30 years old, the recommended body fat percentage should be
between 14-20%.

(C) Under 30 years old women, the recommended body fat percentage should be
between 17-24%.

(D) The body fat percentage of obese men is above 30%.

Which of the following statements about lovelorn is correct ?

(A) Breaking up is the other’s problem, you don’t need to blame yourself.

(B) Express your emotions, relax with an alcoholic beverage.

(C) Find a way to live a leisurely life, and express your emotions.

(D) Find other life goals, don't enter another relationship immediately.

Which of the following statements about sexual transmitted diseases is wrong ?

(A) If you have a sexually transmitted disease, you will not get another sexually
transmitted disease.

(B) The pathogen of gonorrhea is Neisseria gonorrhoeae.

(C) Non-gonococcal urethritis. may be infected by chlamydia.

(D) The fetus may be infected with syphilis from their mother.
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